# Method Researchon Complex Methodof Roots 

Jitendra Kumar<br>Department of mathematics, HRP Degree College, Barkhera, Pilibhit (U.P.)-262203,India

Abstract: This is a new method it is most important to solve the quadratic equation. In this method we study about, that how we can obtain the roots, angles, and distance from origin by the complex numbers.

Keywords: Quadratic equation, complex number, roots, angle, distance.

## 1. INTRODUCTION

This method is based on the quadratic equation. In this method we solve quadratic equation by complex number. We take complex number $X \pm i Y$ on the place given variable such that in the quadratic equation $a x^{2}+b+c=0$. In this equation $a, b, c$ are constant and $a \neq 0$. By this method we obtain roots, angle and distance from origin from complex number.

## 2. METHOD

let $a x^{2}+b x+c=0$ be a quadratic equation, where $a, b, c$ are constant and $a \neq 0$. We take $x \rightarrow X+$ $i Y$ now we get result.

$$
\begin{gathered}
a(X+i Y)^{2}+b(X+i Y)+c=0 \\
a\left(X^{2}-Y^{2}+2 i X Y\right)+b X+b i Y+c=0 \\
a\left(X^{2}-Y^{2}\right)+2 a i X Y+b X+b i Y+c=0 \\
{\left[a\left(X^{2}-Y^{2}\right)+b X+c\right]+i Y[2 a X+b]=0}
\end{gathered}
$$

Separate into real and imaginary parts.
Hence we get,

$$
\begin{align*}
& a\left(X^{2}-Y^{2}\right)+b X+c=0 .  \tag{1}\\
& 2 a X+b=0 \ldots \ldots \ldots \ldots \ldots \tag{2}
\end{align*}
$$

$\qquad$

From equation (2) we get,

$$
\begin{gathered}
2 a X+b=0 \\
2 a X=-b \\
X=-\frac{b}{2 a}
\end{gathered}
$$

Putting the value of $X$ in equation (1) we get

$$
\begin{aligned}
& a\left(\frac{b^{2}}{4 a^{2}}-Y^{2}\right)-\frac{b^{2}}{2 a}+c=0 \\
& \left(\frac{a b^{2}}{4 a^{2}}-a Y^{2}\right)-\frac{b^{2}}{2 a}+c=0
\end{aligned}
$$

$$
\begin{gathered}
\frac{a b^{2}}{4 a^{2}}-\frac{b^{2}}{2 a}+c=a Y^{2} \\
\frac{a b^{2}-2 a b^{2}}{4 a^{2}}+c=a Y^{2} \\
\frac{-a b^{2}+4 a^{2} c}{4 a^{2}}=a Y^{2} \\
\frac{-a\left(b^{2}-4 a c\right)}{4 a^{2}}=a Y^{2} \\
Y^{2}=-\frac{\left(b^{2}-4 a c\right)}{4 a^{2}} \\
Y^{2}=\frac{\left(b^{2}-4 a c\right) i^{2}}{4 a^{2}} \because i^{2}=-1 \\
Y= \pm \frac{\sqrt{\left(b^{2}-4 a c\right)}}{2 a} i
\end{gathered}
$$

But $x=X+i Y$

$$
\begin{aligned}
& x=-\frac{b}{2 a}+i\left( \pm \frac{\sqrt{\left(b^{2}-4 a c\right)}}{2 a} i\right) \\
& x=-\frac{b}{2 a}+\left( \pm \frac{\sqrt{\left(b^{2}-4 a c\right)}}{2 a} i^{2}\right)
\end{aligned}
$$

$$
x=\frac{-b \mp \sqrt{\left(b^{2}-4 a c\right)}}{2 a}
$$

Similarly we find above relation from, $x=X-i Y$

## 3. DISTANCE FROM ORIGEN

We know that $X=r \cos \theta, Y=r \sin \theta$.
Then, $r^{2}=X^{2}+Y^{2}$

$$
\begin{gathered}
r^{2}=\left(-\frac{b}{2 a}\right)^{2}+\left( \pm \frac{\sqrt{\left(b^{2}-4 a c\right)}}{2 a} i\right)^{2} \\
r^{2}=\frac{b^{2}-b^{2}+4 a c}{4 a^{2}} \\
r^{2}=\frac{c}{a} \\
r=\sqrt{\frac{c}{a}}
\end{gathered}
$$

## 4. ANGLE

We know that, $X=r \cos \theta$

$$
\begin{gathered}
\cos \theta=\frac{X}{r} \\
\cos \theta=\frac{-b / 2 a}{\sqrt{c / a}} \\
\cos \theta=\frac{-b}{\sqrt{4 a c}}
\end{gathered}
$$

## 5. REFERENCES

1. G G Joseph, The crest of the peacock (London, 1991).
. K Shankar Shukla, The Patiganita of Sridharacarya (Lucknow, 1959).
2. BDatta, On the relation of Mahavira to Sridhara, Isis 17 (1932), 25-33.
3. Ganitanand, On the date of Sridhara, GanitaBharati 9 (1-4) (1987), 54-56.
4. T Hayashi, Sridhara's authorship of the mathematical treatise Ganitapancavimsi, Historia Sci. (2) 4(3) (1995), $233-250$.
5. K Shankar Shukla, On Sridhara's rational solution of $\mathrm{Nx}^{\wedge} 2+1=\mathrm{y}^{\wedge} 2$, Ganita 1 (1950), 1-12.
6. A I Volodarskii, Mathematical treatise Patiganita by Sridhara (Russian), in 1966 Phys. Math. Sci. in the East (Russian) 'Nauka' (Moscow, 1966), 141-159
7. A I Volodarskii, Notes on the treatise Patiganita by Sridhara (Russian), in 1966 Phys. Math. Sci. in the East (Russian) 'Nauka' (Moscow, 1966), 182-246.
